a3 2= 4B —FHKRHRGEE
HiEH H A H
EfiMX 2 a2=F 4o 2 —#EEWHHES F
a3 a=T 4 X —F B R s E
S -
*® 4 WoOEBYala=T v Z—DFHIZHOWT,
PR DS & W L
RFEL
HEAE F FEIT — F1e M- hEs - TREES (&%8)
WoB i (%)
BB Eh - REF (57%))
BAE AR (57%))
H55 HABERERRIE (57%))
65 ARABIRMIK (57%))
BT7H BIRS (5%))
) W8 A LLELRDISEG (5% - %)
KDOEBYaIa=FT v Z2—DFHICONTHELET,
T4 - R WKy 1 W5 2 Wt L7
FOB OB | BIREEGR - RES - ES - HES - R - KF - BaRE - T O e X 5y 1 st (2%H) 2 e (5%E)
OB Mo HoOE OB & W% PR A 4 i A % @A
®RR | mn i FIfE | A% iﬁ faes | omEe | osar | smee | meEe | amee | omee | gt f@g% A
~ /
~ J/
~ J/
~ /
~ J/
A QA% ®) (A%—%B)

i6iiea




